
INSTALLATION INSTRUCTIONS FOR
IMCO-NV DRIVE SHOWERS

NOTE: DRAWING SHOWS PROPER LOCATION FOR A R.H. ROTATING PROPLER, FOR A L.H. ROTATING PROPLER
              SWITCH SIDES.
A.  LOCATE PICKUP ON CAVITATION PLATE PER DRAWING AND DRILL THE 7/16” HOLE FIRST, INSTALL PICKUP
      AND DRILL THE 1/4” HOLE, INSTALL 1/4” NUT AND BOLT PROVIDED
B.  REMOVE THE TOP TWO REAR BOLTS OR NUTS (THIS WILL DEPEND ON WITCH STERN DRIVE YOU HAVE)
      INSTALL NEW STUDS OR NUTS AND TIGHTEN TO 35 FT LBS, INSTALL DRIVE SHOWER USING THE 3/8” BUTTON
      BOLTS TIGHTEN TO 15 FT LBS.
CAUTION:  CHECK FOR CLEARANCE BEFORE TRIMMING DRIVE ALL THE WAY UP, ADJUST ACCORDINGLY

7/16” HOLE
1 ST

1/4” HOLE
2 ND

B.

A.

1/4” LOCK NUT

1/4” X 1” BUTTON BOLT

3/8” X 1/2” BUTTON BOLT

TOP VIEW OF CAVITATION
PLATE L.H. SIDE

PICKUP TAB

STUD/NUT

LEFT SIDE VIEW OF
STERN DRIVE


